## 17-28MAR14 - Lawn Care Maintenance & Seasonal Grounds Services BID TABULATION

Truescape (Fulton, MO)						Diamond B Lawn Care LLC (Sturgeon, MO)						
	PRICING – Lawn Care	ooupo (	(i ditoii, i					··· · · · ·		<del>goon,o</del>	<i>)</i>	
	<u>Maintenance</u>		Unit P	rice Per Sq. Ft.		PRIC	ING - Lawn Care Maintenance			ce Per Sq. Ft. 6.5000		
	. Fertilizing (Early Spring) \$0.0040				4.8.1.	Fertilizing (Early Spring)						
4.8.2.	Fertilizing (Late Spring) \$0.0049				4.8.2.	Fertilizing (Late Spring)			6.5000			
4.8.3.	Fertilizing (Early Summer)					4.8.3.	Fertilizing (Early Summer) \$4.8000					
4.8.4.	Fertilizing (Early Fall)			\$0.0040		4.8.4.	Fertilizing (Early Fall)			4.8000		
4.8.5.	Fertilizing (Late Fall)			\$0.0040		4.8.5.	Fertilizing (Late Fall)			5.2500		
4.8.6.	Grub Control			\$0.0045		4.8.6.	Grub Control			8.2500		
4.8.7.	Aerating			\$0.0060		4.8.7.	Aerating			16.0000		
4.8.8.	Verti-Cutting (2-passes)			\$0.0080		4.8.8.	Verti-Cutting (2-passes)			24.0000		
4.8.9.	Overseeding			\$0.0080		4.8.9.	Overseeding			8.0000		
4.8.10.	Agricultural Lime			\$0.0040		4.8.10.	Agricultural Lime			5.0000		
4.8.11.	Power Raking			\$0.0200		4.8.11.	Power Raking			16.0000		
	Optional: Tree & Shrub Fertilization (Price per						otional: Tree & Shrub Fertilization (Price per					
	Application)			\$30.00	4.8.13.	Application)						
4.9.	PRICING – Seasonal Grounds Services				4.9.	PRICING – Seasonal Grounds	LStimateu	•				
		Unit Price Per		Number of Mowings Per				Unit Price Per		Number of Mowings Per		
	Location	Mowing	Frequency	Season	<b>Extended Total</b>		Location	Mowing	Frequency	Season	Extended Total	
	Public Works, 5551 Tom						Public Works, 5551 Tom Bass					
4.9.1.	Bass Rd.	\$45.00	Weekly	31	\$1,395.00	4.9.1.	Rd.	\$45.00	Weekly	31	\$1,395.00	
4.9.2.	Public Works, Lagoon	\$40.00	Monthly	7	\$280.00	4.9.2.	Public Works, Lagoon	\$80.00	Monthly	7	\$560.00	
4.9.3.	Union Cemetery	\$180.00	As Needed	7	\$1,260.00	4.9.3.	Union Cemetery	\$75.00	As Needed	7	\$525.00	
4.9.4.	Rocky Fork Cemetery	\$190.00	As Needed	7	\$1,330.00	4.9.4.	Rocky Fork Cemetery	\$120.00	As Needed	7	\$840.00	
4.9.5.	Sheriff Dept.	\$95.00	Bi-Weekly	15	\$1,425.00	4.9.5.	Sheriff Dept.	\$300.00	Bi-Weekly	15	\$4,500.00	
4.9.6.	700 Demaret Dr.	\$40.00	BiWeekly	15	\$600.00	4.9.6.	700 Demaret Dr.	\$20.00	BiWeekly	15	\$300.00	
4.9.7.	Barnes School Rd & 124	\$60.00	Bi-Weekly	15	\$900.00	4.9.7.	Barnes School Rd & 124	\$35.00	Bi-Weekly	15	\$525.00	
4.9.8.	Subtotal for Seasonal C	Grounds Ma	aintenance		\$7,190.00	4.9.8.	Subtotal for Seasonal Gro	\$8,645.00				

## 17-28MAR14 - Lawn Care Maintenance & Seasonal Grounds Services BID TABULATION

	Truescape (Fulton, MO)		Diamond B Lawn Care LLC (Sturgeon, MO)				
4.10.	PRICING - Additional Finish Mowing as requested	\$35.00	4.10.	PRICING - Additional Finish Mowing as requested	\$35.00		
	PRICING - Additional Field Mowing as requested	\$50.00	4.11.	PRICING - Additional Field Mowing as requested	\$50.00		
	PRICING – Miscellaneous Landscaping Work as outlined in Section 2.3.6. (on an as-requested basis)	\$35.00	4.12.	PRICING – Miscellaneous Landscaping Work as outlined in Section 2.3.6. (on an as-requested basis)	\$25.00		
	Mulch - Cost Plus %	10.00%	4.12.1.	Mulch - Cost Plus %	15.00%		
	Decorative Gravel - Cost Plus %	10.00%	4.12.2.	Decorative Gravel - Cost Plus %	15.00%		
	Sod - Cost Plus %	10.00%	4.12.3.	Sod - Cost Plus %	15.00%		
	Granular Ice Control Products - Cost Plus %	10.00%	4.12.4.	Granular Ice Control Products - Cost Plus %	15.00%		
	Liquid Pre-treatment / De-icer for Walkways - Cost Plus %	10.00%	4.12.5.	Liquid Pre-treatment / De-icer for Walkways - Cost Plus %	15.00%		
4.12.6.	Other Materials as Requested - Cost Plus %	10.00%	4.12.6.	Other Materials as Requested - Cost Plus %	15.00%		
	PRICING - Optional Tree and Shrub Fertilization (Price per Hour)	\$35.00	4.13.	PRICING - Optional Tree and Shrub Fertilization (Price per Hour)	\$30.00		
4.14.1. 4.14.2.	PRICING – Optional Sprinkler System Maintenance-Hourly Rate Sprinkler System Replacement Parts - Cost Plus % Spring Sprinkler Start-up for both systems (including turning on valves and inspecting the system) - Total Price	\$50.00 10.00% \$150.00	4.14. 4.14.1. 4.14.2.	PRICING - Optional Sprinkler System Maintenance-Hourly Rate Sprinkler System Replacement Parts - Cost Plus % Spring Sprinkler Start-up for both systems (including turning on valves and inspecting the system) - Total Price	\$30.00 15.00% \$125.00		
	Fall Sprinkler System Shut Down for both systems (including turning off the valves and using a pneumatic compressor to blow out all lines) Total Price	\$200.00	4.14.3.	Fall Sprinkler System Shut Down for both systems (including turning off the valves and using a pneumatic compressor to blow out all lines) Total Price	\$280.00		
4.14.4.	Backflow Certification Test for both systems (Total Price)	\$120.00	4.14.4.	Backflow Certification Test for both systems (Total Price)	\$400.00		
	PRICING – Snow Removal Work as outlined in Section 2.3.7. (on an as-requested basis) Price Per Hour	\$100.00	4.14.	PRICING – Snow Removal Work as outlined in Section 2.3.7. (on an as- requested basis) Price Per Hour	\$65.00		
4.14.1.	Snow plow with spreader / skid loader / tractor with blade (Price Per Hour)	\$100.00	4.14.1.	Snow plow with spreader / skid loader / tractor with blade (Price Per Hour)	\$65.00		
4.15.	CONTRACT RENEWAL: Maximum Percentage Increase:		4.15.	CONTRACT RENEWAL: Maximum Percentage Increase:			
	2nd Year <u>5</u> %	\$7,549.50		2nd Year <u>2</u> %	\$8,817.90		
	3rd Year <u>5</u> %	\$7,926.98		3rd Year <u>2</u> %	\$8,994.26		
	Total Seasonal Grounds Services (Sec. 4.9) for 3 years:	\$22,666.48		Total Seasonal Grounds Services (Sec. 4.9) for 3 years:	\$26,457.16		
4.16.3	Coop? (Y or N)	Υ	4.16.3	Coop? (Y or N)	Υ		

Custom Cut Lawncare							Poehln	nann's La	awn & Landsc	ape (Columbia, I	MO)		
	PRICING – Lawn Care Maintenance		Unit Pr	ice Per Sq. Ft.		<u>PRI</u>	CING – Lawn Care Maintenance		Uni	it Price Per Sq. Ft.			
4.8.1.	Fertilizing (Early Spring)			0.00253		4.8.1.	Fertilizing (Early \$0.0035						
4.8.2.	Fertilizing (Late Spring)		\$	0.00253		4.8.2.	Fertilizing (Late	\$0.0036					
4.8.3.	Fertilizing (Early Summer)		\$	0.00253		4.8.3.	Summer)			\$0.0034			
4.8.4.	Fertilizing (Early Fall)		\$	0.00253		4.8.4.	Fall)	\$0.0034					
4.8.5.	Fertilizing (Late Fall)		\$	0.00253		4.8.5.	Fall)		\$0.0034				
4.8.6.	Grub Control		\$	0.00264		4.8.6.	Grub Control		\$0.0034				
4.8.7.	Aerating			1.00000		4.8.7.	Aerating			\$0.0120			
4.8.8.	Verti-Cutting (2-passes)			51.50000		4.8.8.	passes)		\$0.0120				
4.8.9.	Overseeding			51.75000		4.8.9.	Overseeding			\$0.0085			
4.8.10.	Agricultural Lime			0.00920		4.8.10.	Agricultural Lime		\$0.0003				
4.8.11.	Power Raking			51.50000		4.8.11.	Power Raking			\$0.0150			
	l construction of						Optional: Tree & S	Shrub Fertilizati	on (Price	74.4.4			
4.8.13.	Optional: Tree & Shrub Fertilization (	Price per Appl	ication) \$100	per hour		4.8.13.	per Application)	· · · · · · · · · · · · · · · · · · ·					
4.9.						4.9.		ING – Seasonal Grounds Services					
		Unit Price		Number of				Unit Price					
	Landlan	Per	_	Mowings Per			1 !	Per	_	Estimated Number of			
	Location	Mowing	Frequency	Season	Extended Total		Location	Mowing	Frequency	Mowings Per Season	Extende		
401	D. H. W. der EFF4 Town David D.I.	<b># 40.00</b>	10/	21	#1 040 00	401	Public Works,	φE2.00	Mr. d.L.	24	<b>61</b> ( )		
4.9.1.	Public Works, 5551 Tom Bass Rd.	\$40.00	Weekly	31	\$1,240.00	4.9.1.	5551 Tom Bass Public Works,	\$53.00	Weekly	31	\$1,64		
4.9.2.	Public Works, Lagoon	\$65.00	Monthly	7	\$455.00	4.9.2.	Lagoon	\$40.00	Monthly	7	\$280		
4.7.2.	T ubile Works, Lagoon	ψ03.00	Worlding	,	ψ433.00	4.7.2.	Lagoon	ψ40.00	Wortung	,	φΖΟί		
4.9.3.	Union Cemetery	\$115.00	As Needed	7	\$805.00	4.9.3.	Union Cemetery	\$200.00	As Needed	7	\$1,40		
4.9.4.	Rocky Fork Cemetery	\$175.00	As Needed	7	\$1,225.00	4.9.4.	Rocky Fork Cemetery	\$200.00	As Needed	7	\$1,40		
405	Chariff David	¢310.00	D: Washin	15	¢4.750.00	40.5	Chariff Danie	¢200.00	D: We alsky	15	ф4.2Г		
4.9.5.	Sheriff Dept.	\$310.00	Bi-Weekly	15	\$4,650.00	4.9.5.	Sheriff Dept.	\$290.00	Bi-Weekly	15	\$4,35		
4.9.6.	700 Demaret Dr.	\$35.00	BiWeekly	15	\$525.00	4.9.6.	700 Demaret Dr.	\$35.00	BiWeekly	15	\$52!		
1.7.0.	700 Bernaret Br.	ψ30.00	Dividenty	10	ψ320.00	1.7.0.	Barnes School Rd		Diviconly	10	ΨΟΖ		
4.9.7.	Barnes School Rd & 124	\$95.00	Bi-Weekly	15	\$1,425.00	4.9.7.	& 124	\$65.00	Bi-Weekly	15	\$97!		
4.9.8.	Subtotal for Seasonal Ground	s Maintenaı	nce		\$10,325.00	4.9.8.	Subtotal for Seasonal Grounds Maintenance				\$10,5		

	Custom Cut Lawncare	T	Poehlmann's Lawn & Landscape (Columbia, MO)				
4.10.	PRICING - Additional Finish Mowing as requested	\$35.00	4.10.	PRICING - Additional Finish Mowing as requested	\$35		
4.11.	PRICING - Additional Field Mowing as requested PRICING - Miscellaneous Landscaping Work as outlined in Section 2.3.6. (on an as-	\$65.00	4.11.	PRICING - Additional Field Mowing as requested  PRICING - Miscellaneous Landscaping Work as outlined in Section 2.3.6. (on an	\$50		
4.12.	requested basis)	\$60.00	4.12.	as-requested basis)	\$35		
4.12.1.	Mulch - Cost Plus %	15%	4.12.1.	Mulch - Cost Plus %	30.0		
4.12.2.	Decorative Gravel - Cost Plus %	15%	4.12.2.	Decorative Gravel - Cost Plus %	30.0		
4.12.3.	Sod - Cost Plus %	15%	4.12.3.	Sod - Cost Plus %	30.0		
4.12.4.	Granular Ice Control Products - Cost Plus %	20%	4.12.4.	Granular Ice Control Products - Cost Plus %	30.0		
4.12.5.	Liquid Pre-treatment / De-icer for Walkways - Cost Plus %	20%	4.12.5.	Liquid Pre-treatment / De-icer for Walkways - Cost Plus %	30.0		
4.12.6.	Other Materials as Requested - Cost Plus %	20%	4.12.6.	Other Materials as Requested - Cost Plus %	30.0		
4.13.	PRICING - Optional Tree and Shrub Fertilization (Price per Hour)	\$100.00	4.13.	PRICING - Optional Tree and Shrub Fertilization (Price per Hour)	\$35		
4.14. 4.14.1.	PRICING – Optional Sprinkler System Maintenance-Hourly Rate Sprinkler System Replacement Parts - Cost Plus %	\$100.00 15.00%	4.14. 4.14.1.	PRICING – Optional Sprinkler System Maintenance-Hourly Rate Sprinkler System Replacement Parts - Cost Plus %	\$45 30.C		
4.14.1.	Spring Sprinkler Start-up for both systems (including turning on valves and inspecting the	13.0076	4.14.1.	Sprinker System Replacement Parts - Cost Plus 76  Spring Sprinkler Start-up for both systems (including turning on valves and inspecting	30.0		
4.14.2.	Isystem) - Total Price	\$125.00	4.14.2.	the system) - Total Price	\$120		
4.14.3.	Fall Sprinkler System Shut Down for both systems (including turning off the valves and using a pneumatic compressor to blow out all lines) Total Price	\$250.00	4.14.3.	Fall Sprinkler System Shut Down for both systems (including turning off the valves and using a pneumatic compressor to blow out all lines) Total Price	\$160		
4.14.4.	Backflow Certification Test for both systems (Total Price)	\$250.00	4.14.4.	Backflow Certification Test for both systems (Total Price)	\$100		
4.14.	PRICING – Snow Removal Work as outlined in Section 2.3.7. (on an as-requested basis) Price Per Hour	\$100.00	4.14.	PRICING – Snow Removal Work as outlined in Section 2.3.7. (on an as-requested basis) Price Per Hour	\$100		
4.14.1.	Snow plow with spreader / skid loader / tractor with blade (Price Per Hour)	\$100.00	4.14.1.	Snow plow with spreader / skid loader / tractor with blade (Price Per Hour)	\$100		
4.15.	CONTRACT RENEWAL: Maximum Percentage Increase:		4.15.	CONTRACT RENEWAL: Maximum Percentage Increase:			
	2nd Year <u>0</u> %	\$10,325.00		2nd Year <u>5</u> %	\$11,1		
	3rd Year _0%	\$10,325.00		3rd Year <u>5</u> %	\$11,6		
	Total Seasonal Grounds Services (Sec. 4.9) for 3 years:	\$30,975.00		Total Seasonal Grounds Services (Sec. 4.9) for 3 years:	\$33,3		
4.16.3	Coop? (Y or N)	Y	4.16.3	Coop? (Y or N)			

ed Total 13.00 0.00 00.00 00.00 50.00 5.00 5.00 73.00

.00 .00 00 0% 0% 0% 0% 0% 0% .00 00% 0.00 0.00 0.00 0.00 0.00 01.65 56.73 31.38

	S	alter Law	n Serv	vice (A	Ashland, MO)			
	PRICING – Lawn Care							
	Maintenance			ι	Init Price Per Sq. Ft.			
4.8.1.	Fertilizing (Early				0.00287			
4.8.2.	Fertilizing (Late				0.00287			
4.8.3.	Summer)				0.00287			
4.8.4.	Fertilizing (Early Fall)				0.00287			
4.8.5.	Fertilizing (Late Fall)				0.00287			
4.8.6.	Grub Control				0.00298			
4.8.7.	Aerating				0.02500			
4.8.8.	passes)				0.04200			
4.8.9.	Overseeding				0.01200			
4.8.10.	Agricultural Lime				0.01000			
4.8.11.	Power Raking				0.05000			
	Optional: Tree & Shrub	Fertilization (P	rice per					
4.8.13.	Application)		ree or shrub					
4.9.	PRICING - Seasonal	<u>Grounds Servi</u>	<u>ices</u>		T. T.			
	Location	Unit Price Per Mowing	Frequ	encv	Estimated Number of Mowings Per Season	Extended Total		
	Public Works, 5551	3	- 1	,	J			
4.9.1.	Tom Bass Rd.	\$110.00	Wee	ekly	31	\$3,410.00		
4.9.2.	Public Works, Lagoon	\$100.00	Mon	-	7	\$700.00		
4.9.3.	Union Cemetery	\$150.00	As Ne	eded	7	\$1,050.00		
4.9.4.	Rocky Fork Cemetery	\$180.00	As Ne	eded	7	\$1,260.00		
4.9.5.	Sheriff Dept.	\$430.00	Bi-We	eekly	15	\$6,450.00		
4.9.6.	700 Demaret Dr.	\$35.00	\$35.00 BiWeekly		15	\$525.00		
4.9.7.	Barnes School Rd & 124	\$45.00 Bi-Weekly			15	\$675.00		
4.9.8.	Subtotal for Seaso	nal Grounds	Mainton	ance		\$14,070.00		

	Salter Lawn Service (Ashland, MO)	
4.10.	PRICING - Additional Finish Mowing as requested	\$35.00
4.11.	PRICING - Additional Field Mowing as requested	\$75.00
	PRICING – Miscellaneous Landscaping Work as outlined in Section 2.3.6. (on an as-	+05.00
4.12.	requested basis)	\$35.00
4.12.1.	Mulch - Cost Plus %	15%
4.12.2.	Decorative Gravel - Cost Plus %	15%
4.12.3.	Sod - Cost Plus %	15% 15%
4.12.4.	Granular Ice Control Products - Cost Plus %	
4.12.5.	Liquid Pre-treatment / De-icer for Walkways - Cost Plus %	15%
4.12.6.	Other Materials as Requested - Cost Plus %	15%
4.13.	PRICING - Optional Tree and Shrub Fertilization (Price per Hour)	\$125.00
4.14. 4.14.1. 4.14.2.	PRICING - Optional Sprinkler System Maintenance-Hourly Rate  Sprinkler System Replacement Parts - Cost Plus %  Spring Sprinkler Start-up for both systems (including turning on valves and inspecting the system) - Total Price	\$55.00 15% \$150.00
4.14.3.	Fall Sprinkler System Shut Down for both systems (including turning off the valves and using a pneumatic compressor to blow out all lines) Total Price	\$150.00
4.14.4.	Backflow Certification Test for both systems (Total Price)	\$200.00
4.14.	PRICING – Snow Removal Work as outlined in Section 2.3.7. (on an as-requested basis) Price Per Hour	75
4.14.1.	Snow plow with spreader / skid loader / tractor with blade (Price Per Hour)	75
4.15.	CONTRACT RENEWAL: Maximum Percentage Increase:	
·	2nd Year <u>2</u> %	\$14,351.40
	3rd Year <u>3</u> %	\$14,781.94
	Total Seasonal Grounds Services (Sec. 4.9) for 3 years:	\$43,203.34
4.16.3	Coop? (Y or N)	Υ